Mechanism Sheet





Name:





50 Points

Answer the following questions.  Be exact about arrows, their direction, formal charges and the placement of new bonds.

1.  Draw the product that would form, according to the given electron-pushing arrow.
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2.  The following multi-step reactions have been drawn out so that each intermediate is shown.  Fill in electron-pushing arrows that show the mechanism of each step.  In some cases, a reagent is missing; if so, fill it in.  
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3.  These reactions are multiple step reactions.  Either give the complete electron-pushing mechanism including all intermediates or do that and give the predicted major product.
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